

11/20

Name: Bernardo Carvalho

$$e^{2x} = \sum \frac{x^n}{n!}$$

Exercise 1. Give (without any justifications) the power series expansion of the following expressions, together with the open interval of convergence.

$\forall x \in \mathbb{R}, e^{2x} = \sum_{n=0}^{+\infty} \frac{(2x)^n}{n!}$	✓	3
$\forall x \in \mathbb{R}, \sin(x) = \sum_{n=0}^{+\infty} (-1)^n \frac{x^{2n+1}}{(2n+1)!}$	✓	3
<del><math>\forall x \in (-1, 1), \ln(1+3x) = \sum_{n=1}^{+\infty} (-1)^{n-1} \frac{(3x)^n}{n}</math></del>		2

$$f'(x) = \sum_{n=0}^{+\infty} n a_n x^{n-1} = \sum_{n=1}^{+\infty} n a_n x^{n-1}$$

$$x f'(x) = \sum_{n=1}^{+\infty} n a_n x^n = \sum_{n=0}^{+\infty} (n+1) a_{n+1} x^{n+1}$$

Exercise 2. Let  $R > 0$  and let  $f : (-R, R) \rightarrow \mathbb{R}$  be a function defined by a power series, say

$$\forall x \in (-R, R), f(x) = \sum_{n=0}^{+\infty} a_n x^n.$$

Fill in the blank with the power series expansion (no justifications required):

$$(1-x)f'(x) + (2+x)f(x) = (1-x) \sum_{n=0}^{+\infty} n a_n x^{n-1} + (2+x) \sum_{n=0}^{+\infty} a_n x^n$$

$$= \sum_{n=0}^{+\infty} a_n x^{n+1}$$

← 3

$$f'(x) = \left( \sum_{n=0}^{+\infty} a_n x^n \right)' = \sum_{n=1}^{+\infty} n a_n x^{n-1} = \sum_{n=0}^{+\infty} (n+1) a_{n+1} x^n$$

$$x f'(x) = \sum_{n=0}^{+\infty} n a_n x^n = \sum_{n=0}^{+\infty} (n+1) a_{n+1} x^{n+1}$$

$$(1-x)f'(x) + (2+x)f(x) = (1-x) \sum_{n=0}^{+\infty} (n+1) a_{n+1} x^{n+1} + (2+x) \sum_{n=0}^{+\infty} a_n x^n$$

$$= \sum_{n=0}^{+\infty} \left( (n+1) a_{n+1} + 2a_n \right) x^{n+1} + \left( -(n+1) a_{n+1} + a_n \right) x^{n+1} + \dots$$